R Restate the question

_‘; Reword the question using some of the same words.
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= A Answer the question
E .
a. Answer all parts of the question in a single complete sentence.
C Cite text evidence E Explain your answer
o~
_g_ “Article 1 states....” “This is important because...”
© “According to the author...” “What this means is ....”
ao “In paragraph 3...” ' “For example.....”
= “The text states....” “Based on this......”
o “On page 4, the author states....” “Therefore, the reader knows....”
C Cite text evidence E Explain your answer
o
A= “Article 1 states....” “This is important because...”
g “According to the author...” “What this means is ....”
% “In paragraph 3...” “For example.....”
= “The text states....” “Based on this......”
Q. “On page 4, the author states....” “Therefore, the reader knows....”
C Cite text evidence E Explain your answer
q—
_g_ “Article 1 states....” “This is important because...”
@ “According to the author...” “What this meansis....”
ap “In paragraph 3...” “For example.....”
= “The text states....” “Based on this......"
- “On page 4, the author states....” “Therefore, the reader knows....”
LN S Sum it up
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© In conclusion.....
ap “All in all...”
= “Therefore, you can see...”
o “To summarize.....”
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